Experimental Materials

Study 1 & 2

Birth
Control

Abstract value: To have how many
children is a right of women, and the
government has not right to intervene.
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Specific solution: Bangladesh is a poor
country located in South Asia. In
Bangladesh, a family will have four to
five children on average. In recent
years, as economic and sanitary
situation improves, Bangladesh
experiences an explosion of population.
At the same time, Bangladesh cannot
provide enough jobs for the increased
population due to the pandemic. This
leads to a lot of jobless young people
wandering around in the cities and the
food supply is becoming tighter and
tighter. The Bangladesh society is facing
huge pressure on jobs, ecology and
food. To deal with such situation,
Bangladesh  government plans to
implement birth control, allowing each
woman to have at most two children.
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Polygamy

Abstract value: Monogamy is the only
legitimate marital institution. Polygamy
is unacceptable.
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Specific solution: The Chad Republic is
a poor developing country in Middle
Africa. Chad's political situation is
unstable. It had several civil wars in the
past decade, causing lots of death of
young men. Chad's situation stabilized
recently, and the new government found
that gender ratio is severely out of
balance due to war. The ratio of number
of men to women is 1: 2. This situation
affected the stability of Chad society
and challenged its traditional marital
values.  Traditionally = Chad  had
monogamy, which was also confirmed
by law. However, faced with the dire
situation, Chad government decides to
change the law and implement
polygamy, allowing a man to have two
wives.
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Land
Reform

Abstract value: The government must
protect private property and should not
conduct wealth redistribution that take
from the few and give to the many.
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Specific solution: South Africa is a
relatively rich country in Africa.
However, the South African society is
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extremely unequal, with 76% of the land
owned by 1% of the population. The
vast majority of the people either live in
slums in big cities or rent land from big
landlords. With the shock of the
pandemic, this twisted social structure
caused unsettlement among the people
and led to social upheaval. To deal with
the problem, the new South African
government plans to buy back land from
the big landlord at a low price, and then
distribute the land to the poor peasants.
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Study 3

Birth
Control

Value consistency: Bangladesh is a
poor country located in South Asia. In
Bangladesh, a family will have four to
five children on average. In recent
years, as economic and sanitary
situation improves, Bangladesh
experiences an explosion of population.
At the same time, Bangladesh cannot
provide enough jobs for the increased
population due to the pandemic. This
leads to a lot of jobless young people
wandering around in the cities and the
food supply is becoming tighter and
tighter. The Bangladesh society is facing
huge pressure on jobs, ecology and
food. Faced with such situation,
Bangladesh government refuses to
interfere, because they believe that to
have how many children is a right of
women, and the government has not
right to intervene.
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Polygamy

Value consistency: The Chad Republic
is a poor developing country in Middle
Africa. Chad's political situation is
unstable. It had several civil wars in the
past decade, causing lots of death of
young men. Chad's situation stabilized
recently, and the new government found
that gender ratio is severely out of
balance due to war. The ratio of number
of men to women is 1: 2. This situation
affected the stability of Chad society
and challenged its traditional marital
values.  Traditionally = Chad had
monogamy, which was also confirmed
by law. Faced with the dire situation,
Chad government decides to keep the
old marital policy, because they
believe that monogamy is the only
legitimate marital institution.
Polygamy is unacceptable.
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Land
Reform

Value consistency: South Africa is a
relatively rich country in Africa.
However, the South African society is
extremely unequal, with 76% of the land
owned by 1% of the population. The
vast majority of the people either live in
slums in big cities or rent land from big
landlords. With the shock of the
pandemic, this twisted social structure
caused unsettlement among the people
and led to social upheaval. Faced with
the problem, the new South African
government decides not to
redistribute the land, because they
believe that government must protect
private property and should not
conduct wealth redistribution that
take from the few and give to the
many.
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Study 4

Moral
absolutism

Morality concerns principles about right
and wrong. These principles have
absolute boundaries and should be
followed by anyone under any
circumstances.

Take marriage as an example. Humanity
has many different marital institutions
throughout history. Islam allows men to
have four wives; ancient China permits
men to have concubines beyond wife;
Medieval Catholic Church did not allow
remarriage  after  divorce; ethnic
minorities in Sothern China have
“walking marriage” , with which each
night men sleep at women's house and
leave children to women's family; in
Cameroon, after the father dies the son
must marry his father's wives except his
own mom. These institutions objectify
and discriminates against women,
treating women as mere tools for
reproduction or property of men, not as
equal and independent of men. As a
result, these marital institutions are
immoral. Only the modern monogamy
recognizes the equality of men and
women, thus it is the marital institution
that fits with moral principles.

As a result, we should not tolerate
marital institutions of other cultures,
because they are immoral. Our moral
beliefs are objective knowledge of right
and wrong. They are universal and
should be followed unconditionally.
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Moral
relativism

Morality is shaped by culture and
growth. There is no absolute boundary
to morality, and what is right or wrong
depends on the specific situation.

Take marriage as an example. Humanity
has many different marital institutions
throughout history. Islam allows men to
have four wives; ancient China permits
men to have concubines beyond wife;
Medieval Catholic Church did not allow
remarriage  after  divorce; ethnic
minorities in Sothern China have
“walking marriage” , with which each
night men sleep at women's house and
leave children to women's family; in
Cameroon, after the father dies the son
must marry his father's wives except his
own mom. For each culture, their own
marital institution is most reasonable
and moral. Monogamy is only one
custom among many, and it is also the
product of our culture.

As a result, we cannot simply make
judgments on other cultures or put our
moral values onto them. If we were born
in a culture with polygamy, we would
consider it right. We must recognize that
our moral beliefs are mere products of
our culture, rather than some objective
standard.
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Moral
pragmatism

Morality is a culture phenomenon that
human society evolves to deal with
specific problems. Although different
cultures have different moral values,
they are all results of adaptation to the
environment.

Take marriage as an example. Humanity
has many different marital institutions
throughout history. Islam allows men to
have four wives because war once
caused a sharp decline in male
population; ancient China relies on
manpower to plow the land, so it
permits men to have concubines beyond
wife to secure a male offspring; ethnic
minorities in Sothern China lives on
foraging by women, so it have
“walking marriage” , with which each
night men sleep at women's house and
leave children to women's family; in
Cameroon, after the father dies the son
must marry his father's wives except his

BRI T R g BAR ]
AL B SCAU LS . BRI Y%
AN SALHPETEA R, (B EATHR G N
I R A 7 T R o

LIS IR B, NSRAEANR 3 52
I SIS 1R SCAE R A A RO S R R A5 A
FEo HARHX E RRAL R B TR R
/b, TR B J 22 Ao VE S PR IO A
Zps mEWAGR MRS, BT E)
TIM TRV EE, PRl fovrEes bl
PRUE SRR HRE; JRIE T %
PR BEMN 5 BEAR AR 2o 1 R AR B A 4l
o, AMRESRMESTEN T, BsAT
FEUSH], RREE LR ABIH QBT
NPz, N LTT R EERTR




own mom to make sure that family
property will not leave. Monogamy in
modern society is also a product of
industrialization.

As a result, we cannot simply make
judgments on other cultures or put our
moral values onto them. We must go
case by case and investigate the specific
situation and practical problem a culture
faces, and judgment should be made on
that basis as well.
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